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(4) If Jimmy John's is running the following promotion. Let
X be the number of touch downs of Purdue's next football
game. Jimmy John's will give each customer X*2 number
of free sandwich.

(Interpretation: If 1 touch down, then each customer gets 1
sandwich.

If 2 touch downs, then 4 sandwiches; If 3 touch downs,
then 9 sandwiches

Question: What is the average number of free sandwiches
a customer can have?

\ns: 0.5%172+0.3*2/2+0.2*3"2=3.5
(5) If X is the number of friends | talk to in the next hour.
What is the average of X"27?

\ns: The same as the last question.
(6) If my iphone runs <=2 programs, then it can last a day.

If it runs >=3 programs, then it can only last 0.5 day. What
is the average hours that my iPhone can last?

\ns: 0.5*24+0.3*24+0.2*12=21.6 hours




P005.2

%ﬂg ﬁpmﬁ WMM/E aw 4t )DWD(MC/'%,

WN%&( answers —to e above %MQJM
K Supplomessal pth L.

* ONCE  the Weight ﬂé{z‘gmem‘ S mede

frb Mol ] = [Gurting |

J —

4 Note that the Pk@b mdjods o ot g,méa‘rm
how the WA s hade, Tt K +he [ser

W has o deterting w}l[tfzer the W.A
s vesstndble o ot

% The fmfor’mn(f @;P the W/]
Ly Qi Whal s he prob tat e odome
A ﬂ({é, s j. 7

LA/’\ ml/ata/ @«eﬁ/m

QQ_ Whd 15 the prb that the outcme
j_\@é 0(/@ < 17




&E
’['Ae DIV o<lian Qfea}p@e§ W "E/LQ

WA muwt be
-é By esch oAame

\ |
A>: -

gf 3t s the prb that the outrume

x Aue dice i< o 10//}744 numbey
Ars s Frime H#¢2,3S Dlab="7+ ¢+ ‘éI‘:S

m - - m-}k%kem&/peddml/
/\ A b pethis

Pmb We (4 hE A;s’/ﬁmmT\
,A mesn l‘%qpml 0(4(25{&—:4 V%\/-D’% }MM//\%:KA/ U\)é

-+ ﬂpéa/)”(\gfl‘c/CDWﬁ:l/ﬁ erthod

Part of the reason of 2008's financial crisis was the incorrect assumption of the probabilistic
models (using the wrong weight assignment).
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Without knowing where the prize is, sometimes switching is better, sometimes staying is
. We need to quantify what is the probability that "switching is better", and what is the
bility that "staying is better".
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